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Order of Operations – Worksheet 1 – Expert

Arithmetic – Order of Operations

1
36 ÷ (8 – 5)  – 3 =

2
8 – 2 x 0 + 4  = 

3
(8 + 1) + (10 – 7)  = 

Like this? Find more differentiated 
Arithmetic resources here.
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Order of Operations – Worksheet 1 – Expert  ANSWERS

Arithmetic – Order of Operations

1
36 ÷ (8 – 5)  – 3 =

1

2
8 – 2 x 0 + 4  = 

24

3
(8 + 1) + (10 – 7)  = 

90

Like this? Find more differentiated 
Arithmetic resources here.
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Order of Operations – Worksheet 2 – Expert

Arithmetic – Order of Operations

1
(9 – 3 x 2)  – (36 ÷ 3) = 

2
5 x (8 – 6)  + 4 = 

3
7  ÷ 7 – 3 x 2.5 = 

Like this? Find more differentiated 
Arithmetic resources here.
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Order of Operations – Worksheet 2 – Expert  ANSWERS

Arithmetic – Order of Operations

1
(9 – 3 x 2)  – (36 ÷ 3) = 

5

2
5 x (8 – 6)  + 4 = 

44

3
7  ÷ 7 – 3 x 2.5 = 

– 0.5

Like this? Find more differentiated 
Arithmetic resources here.
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Order of Operations – Worksheet 3 – Expert

Arithmetic – Order of Operations

1
24 x 2 – 6 ÷ 3 =

2
25 + 3 x 6 – 5 = 

3
(9 + 6 x 6) ÷ 3  – 7 = 

Like this? Find more differentiated 
Arithmetic resources here.
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Order of Operations – Worksheet 3 – Expert  ANSWERS

Arithmetic – Order of Operations

1
24 x 2 – 6 ÷ 3 =

36

2
25 + 3 x 6 – 5 = 

74

3
(9 + 6 x 6) ÷ 3  – 7 = 

– 2

Like this? Find more differentiated 
Arithmetic resources here.
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Order of Operations – Worksheet 4 – Expert

Arithmetic – Order of Operations

1
1 + 3 ÷ (7 – 4) = 

2
28 ÷ (16 + 8 x 3 – 26) = 

3
4  – 13 x 4 ÷ 10 = 

Like this? Find more differentiated 
Arithmetic resources here.
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Order of Operations – Worksheet 4 – Expert  ANSWERS

Arithmetic – Order of Operations

1
1 + 3 ÷ (7 – 4) = 

4

2
28 ÷ (16 + 8 x 3 – 26) = 

2

3
4  – 13 x 4 ÷ 10 = 

58.8

Like this? Find more differentiated 
Arithmetic resources here.
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